# Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL

October 2008 Form Must Be Typed

**KCC WICHITA** 

## **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

OPERATOR: License # 33235	API No. 15 - 007-23449-0000					
Name: Chieftain Oil Co., Inc	Spot Description:					
Address 1: PO Box 124	E2 _sw _sw _se _sec. 22 _twp. 33 _s. R. 11 _ East \( \vec{V} \) West					
Address 2:						
City: Kiowa State: KS Zip: 67070 +						
Contact Person: Ron Molz	Footages Calculated from Nearest Outside Section Corner:					
Phone: ( <u>620</u> ) <u>825-4030</u>	□NE □NW □SE □SW					
CONTRACTOR: License # 33902	County: Barber					
Name: Hardt Drilling	Lease Name: Houlton A Well #: 2					
Wellsite Geologist: Arden Ratzlaff	Field Name: Rhodes					
Purchaser: American Pipeline	Producing Formation: Mississippi					
Designate Type of Completion:	Elevation: Ground: 1453 Kelly Bushing: 1463					
✓ New Well Re-EntryWorkover	Total Depth: 5084 Plug Back Total Depth: 5047					
✓ Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: Feet					
	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No					
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet					
Dry Other	If Alternate II completion, cement circulated from:					
(Core, WSW, Expl., Cathodic, etc.)	feet depth to:w/sx cmt_f					
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/AWI-Dig -2/5/					
Operator:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)					
Well Name:	Chloride content: 10000 ppm Fluid volume: 1200 bbls					
Original Comp. Date: Original Total Depth: Conv. to SWD	Dewatering method used: Haul Off					
Plug Back: ————————————————————————————————————						
Commingled Docket No.:	Location of fluid disposal if hauled offsite:					
Dual Completion Docket No.:	Operator Name: Molz Oil Co., Inc.					
Other (SWD or Enhr.?) Docket No.:	Lease Name: Garner SWD License No.: 6006					
8/26/2009 9/06/2009 9/21/2009	Quarter NE Sec. 11 Twp.33S S. R. 10 East West					
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	County: Barber Docket No.:					
Kansas 67202, within 120 days of the spud date, recompletion, workover or c of side two of this form will be held confidential for a period of 12 months if rec	n the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidenell report shall be attached with this form. ALL CEMENTING TICKETS MUST with all temporarily abandoned wells.					
All requirements of the statutes, rules and regulations promulgated to regulate are complete and correct to the best of my knowledge.	the oil and gas industry have been fully complied with and the statements herein					
Signature:	KCC Office Use ONLY					
Title: Secretary Date: 1/27/2010	Letter of Confidentiality Received					
Subscribed and sworn to before me this 27 day of January	, If Denied, Yes 🗌 Date:					
20 <u>10</u> .	Wireline Log Received					
Notary Public: <u>Amanda Con</u>	Geologist Report Received RECEIVED					
NOTARY PUBLIC - State	te of Kansas					
Date Commission Expires: 4/11/2011 AMANDA CO	ORR JAN 2 8 2010					

My Appt. Expires 4/

### Side Two

Operator Name: Ch	ieftain Oil Co., Inc			Lease	Name: _	Houlton A		Well #: 2	
	33 S. R. 11				y: Barb	er			
time tool open and c recovery, and flow ra	how important tops al losed, flowing and shi tes if gas to surface to al geological well site	ut-in pres: est, along	sures, whether s	hut-in pres	sure rea	ched static level,	hydrostatic	pressures, bottom	hole temperature, fl
Drill Stem Tests Take		<b>7</b>	Yes 🗌 No		√ L	.og Formatio	n (Top), Dep	oth and Datum	Sample
Samples Sent to Ge	·	<b>7</b>	Yes 🗌 No		Name Heebner			Тор <b>3627</b>	Datum -2164
Cores Taken			Yes 🔽 No		Lans	ing		3813	-2350
Electric Log Run (Submit Copy)		✓.	Yes No		Base	Kansas City		4344	-2881
, , , , , ,					Miss	issippian		4512	-3049
List All E. Logs Run: Gamma Ray Dual Ind	duction				Viola	1		4836	-3363
Compensated Neutro Geologic					Simp	oson		4929	-3466
Sonic Bond					Tota	l Depth		5084	-3621
		Rep		RECORD	√ N urface, int	ew Used ermediate, producti	ion, etc.		
Purpose of String	Size Hole Drilled		ize Casing et (In O.D.)	Weig Lbs.		Setting Depth	Type o Cemer		Type and Percen Additives
Surface	10-3/4	8-5/8	et (III O.D.)	24#	710	308	60/40 Po		2% Salt
Production	7-7/8	5-1/2		15.5#		5080	Common	200	2% Salt Gas Blo
L	L	<u> </u>	ADDITIONAL	CENTENTIA	NC (CO	LEEZE DECORD	L	L	<u> </u>
Purpose:	Depth	Ι		T		JEEZE RECORD			
Perforate	Top Bottom	іур	e of Cement	#Sacks	Usea		іуре	and Percent Additives	;
Protect Casing Plug Back TD									
Plug Off Zone									
	The second secon	<u> </u>		L		1			
Shots Per Foot			RD - Bridge Plug Each Interval Perf					ement Squeeze Recor of Material Used)	d Depth
4	4514-4524 45	26-453	6			1000 Gal 7-1/2% Acid 4			
4	4622-4626					1500 Gal 1	5% Acid		4514-46
				EIVED		Frac 17000	0# Sand		4514-46
			JAN	2 8 201	0	7000 BBLS	Slick Wa	ater	4514-46
			×001	MCHI	TΔ				
TUBING RECORD: 2-	Size: 7/8	Set At 4650	: KUU '	Packer At	:	Liner Run:	Yes 🖸	No	
Date of First, Resumed 01/10/10	Production, SWD or En	hr.	Producing Metho	-	Flowing	9 V Pumpin	g 🗌 G	as Lift	er ( <i>Explain</i> )
Estimated Production Per 24 Hours	Oil 70	Bbls.	Gas 1	Vicf	Wate	er Bb	ils.	Gas-Oil Ratio	Gravity
			L				······································		
DISPOSITI	ON OF GAS:		М	ETHOD OF	COMPLE	TION:		PRODUCTIO	ON INTERVAL:
☐ Vented ☑ Sold	Used on Lease			Perf. [	Dually	Comp. Com	mingled		
(If vented, Sui	bmit ACO-18.)		Other (Specify)				ļ		



INVOICE DATE PAGE Charl No 1000719 09/10/2009 1 of 2

INVOICE NUMBER

1718 - 90122718

Pratt

(620) 672-1201

B CHIEFTAIN OIL COMPANY

1 PO Box: 124

L KIOWA

KS US

67070

o ATTN:

LEASE NAME

Houlton "A: 2

LOCATION

COUNTY

Barber

KS

STATE

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

# <b>BO</b> t	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE
40088870	19905	,			Net - 30 days	10/10/2009
	1	<u> </u>	QTY	U of	Net - 30 days UNIT PROPERTY OF THE PROPERTY OF	INVOICE AMOUNT
For Service Dates	:: 09/07/2009 to 0	9/07/2009		**	A Ka Ka	
F We type	, 00,07,2000 10 01		·	'کم	2009	
0040088870				E	-0 22 0 065	•
Carlot A				(	BER IN NO	
171800634A Cem	nent-New Well Casing/Pi	09/07/2009			1 a/	
The second second	•			ŀ		
Cement			200.00	EA'_	9.35	1,869.99
AA2 Common			`.	•		
Cement			50.00	EA	6.60	330.00
60/40 POZ						
Additives			38.00	EA	2.20	83.60
De-foamer(Powder	)			l		005.45
Additives			1,038.00	EA	0.28	285.45
Salt(Fine) Additives			188.00	EA	2.83	532.51
Gas-Blok			100.00	EM	2.03	332.51
Additives		:	149.00	EA	4.13	614.63
FLA-322			140.00		-	011.00
Additives			1,000.00	EA		368.50
Gilsonite			,,,,,,,,,,			
Additives			5.00	EΑ	19.25	96.25
≧CS-1L, KCL Substi	tute					
Additives			500.00	ĒΑ	0.47	236.50
Mud Flush						
Additivës		1	500.00	EA	0.84	420.75
Super Flush II	• •					
Cement Float Equip			1.00	EA	220.00	220.0
<del>-</del>	Baffle, 5 1/2"(Blue)		1.00	F 4	100.00	100.0
Cement Float Equip Auto Fill Float Shoe			1.00	EA	198.00	198.0
Cement Float Equip			7.00	EA	60.50	423.5
Turbolizer, 5 1/2"(I	Rhiel		7.00		00.50	420.0
Cement Float Equip	oment .	- CEIVED	2.00	EA	159.50	319.0
5 1/2" Basket(Blue	)	RECEIVE	2.00			27010
Mileage		1 2 8 5010	60.00	Мі	3.85	231.0
Heavy Equipment N	/lileage	RECEIVED JAN 28 2010 KCC WICHITA				
Mileage		- CMICHITA	347.00	Mi	0.88	305.30
	e 1	KCC MIC.				
,		· -				

## ALLIED-CEMENTING CO., LLC. 042536

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:
Medicine lodge

DATE SZLJU9 SE	TWP	S RANGE	C	S.OOP	UT	ON LOC	Sem.	JOB START	JOB FINISH
LEASE Houlton w				•		_	•	COUNTY	STATE
OLD OR NEW Circle				e ILO	2 70	+-*m	Manse	Barber	142
OLD OR NEW (Circle	one)	10/10	ю		·				
CONTRACTOR	1# + 1 km			OWNE	R C	hief	lon		
TYPE OF JOB				0		L			
HOLE SIZE	1274 1	r.D. 308		CEMI					_
CASING SIZE 1/1999	83/8 1	DEPTH 3/0		AMOU	JNT OR	DERED <sub>4</sub>	2105	Sx60.4	0:2+3%
TUBING SIZE	Link I I	DEPTH							
DRILL PIPE - 进港村			1 .						
TOOL This are									
PRES. MAX				COM	10N_C/	C35 H			1701.00
MEAS. LINE CEMENT LEFT IN C	, <u>s</u>	HOE JOINT .		POZM			-84	@ <u>_7.55</u>	<u> 634.2</u>
CEMENT LEFT IN CS	36! ZO			GEL!				@ <u>Zozs</u>	60.75
PERFS.	37 37 15 15 15 15 15 15 15 15 15 15 15 15 15	<b></b>		CHLO	RIDE _				34050
DISPLACEMENT/8			· · · · · · · · · · · · · · · · · · ·	ASC_			·	.@	
1. 10	ÉQUIPMEN	NT .			<del></del>		<del></del>		
		,						_	
PUMP TRUCK CEI	MENTER A	nauk Co	lev			· · ·			
#352 HE	LPER Day	id F.	,		1			^	
BULK TRUCK	Caralte Company								
# 389 DR	IVER Scot	L+ P.						. @ . @	
BULK TRUCK						<del></del>		. <sup>@</sup>	<del></del>
# 0-1 DR	IVER			LÍAND	i INC	· · · · · · · · · · · · · · · · · · ·	105	@ Z.40	252 2
. ';	,			11/11/11/				13/.10	
jana i na <del>na tahapi</del>	DESALOR	œ.		יעעעווויו	10L	,			3,040.9
Disp to 2901	W/7814 L	clais fregh	<u> </u>			$_{\rm B}$ $\frac{3}{}$			001
Shirthander	14 C g + C , - V + C (c)	<del></del>							991.00
Cement di d'Cil	ζ.					AGE		@	35.00
CETITIES OF OCT	* .		<del></del>						_55.00
	•			MANII	FOLD		N/C		<u></u>
	1000				,			.@	.=
0.1	h		1 194	<del></del>	·			@	
CHARGE TO: <u>C4.</u>	etten			,	• .				107/ 00
STREET				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		•		TOTAL	1026.00
CITY	STATE	ZIP_		e i digera		nî tiên e.	izt o at	EQUIPMEN	'r
•						LUGA	FLOAT		
	ing Pagasaran		• • •	1-a	soodes	- Plu			74.000
,			* 1 ·	<u> </u>		4,1		@	· · · · · · · · · · · · · · · · · · ·
To Allied Cementing	Co., LLC.	ti il i		7 (M. 1941) 7				. @ : @	
You are hereby reque	sted to rent c	ementing equ	inment	• • • • • • • • • • • • • • • • • • • •	<del></del>			.@	
and furnish cementer	and helper(s	) to assist own	ier or Hari	HCHLAP	CATAIC	1OE acc	•		•
contractor to do work	c as is fisted.	The above wo	ork was	٠.		a taktiti a a water	Marie Gara	1000014	7/100
done to satisfaction a				epone a c				TOTAL	_ /4,00_
contractor. I have rea				CALEC	TA V /1	C A			
TERMS AND CONE			erse side.	SALES	TAX (I	Any)		97	<del>-</del> · · ·
$\omega \to i \bar{a}$	the state of the state	is a contract of a	· 11   11   14   14	TOTAL	CHAR	GËS 🚢		TO THE STATE OF	
DRINTED NAME L.	Satt	Adalla	~/X "	Disco	IINT	Marie d		10.04.0	D IN 30 DAYS
I WHITED HAME	~ · · · · ·		<u> </u>	, DISCO	I FI U'			IF PAU	J IN 30 DAYS
PRINTED NAME	V w.	- 1 - 1	۱۱۱۶ - ۱۱ م - د د د ستر ،	rang, ni zami. Ni za	ৰ্		學等		
SIGNATURE	rate	Udilka	۰۱۱۰۰			ing very a	erre eg :		
· · · · · ·				Same					

RECEIVED

JAN 2 8 2010

KCC WICHITA



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Fax:

(785) 483-3887 (785) 483-5566

Elline

Chieftain Oil Company Inc.

P O Box 124

Kiowa, KS 67070-0124

INVOICE

Invoice Number: 119823

Invoice Date: Aug 26, 2009

Page:

diremore	Welf Name/#orcustomar/26	A Paymen	tTerms.
Chieft	Houlton A #2	Net 30	Days
iop to a floir	<u>Campteocatom</u>	Service Date 1.48	e dididid
KS2-01	Medicine Lodge	Aug 26, 2009	9/25/09

ENTITE

SEP 0 4 7909

			ioner verver voroeses	
Our nity	. Lien	. Description	Control of the second	Amount
	MAT	Class A Common	13.50	1,701.00
84.00		Pozmix	7.55	634.20
1	MAT	Gel .	20.25	60.75
	MAT	Chloride	51.50	360.50
105.00	SER	Handling	2.40	252.00
5.00	SER	Mileage 105 sx @ 10 per sk per mi	10.50	52.50
1.00	SER	Surface	991.00	991.00
5.00	SER	Pump truck Mileage	7.00	35.00
1.00	EQP	Wooden Plug	74.00	74.00
			RECEIVED JAN 2 8 2010 CC WICHITA	
ALL PRICES AF	L RE NET, PAYABL	E Subtotal		4,160.95

30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THÈREÀFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Stap 25, 2000

Subtotal	4,160.95
Sales Tax	178.32
Total Invoice Amount	4,339.27
Payment/Credit Applied	
TRODUNE	el inti

2674.89

JAN 28 2010

RECEIVED

TREATMENT REPORT **KCC WICHITA** gv services, L.P. OM DAILY. Date ncorporated State Cansus County lans95 Formation Legal-Description Type Job ongstring PERFORATING DATA POWD USED PIPE DATA TREATMENT RESUME Cashg Size 5 8 MER. 88 FLA 322 Spots/Ft Typing Bize/F Depth 80Fee sk. Gils From V20.9Bb From From То Dell Connection Annulus Vol. HHP used Rat and Mause no essure From gas Volume From Customer Representative Station Manager Prester rence R. Messich David Scott 19.903 19,905 19.831 Matta Mc Graw Time A. Pressure Bbls. Pumped Service Log ဩ : <u>30</u> ementerland Float Equipment on 1:30 Trucks on location and hold safety meeting. Drilling start to run Auto-Fill Float Shoe, Shoe Joint with Bafflescrewedintocollarand at otal tret above Collars # Dand # 10. R. 30 asing in well. Circulate for 1 hour. 250 Start Fresh Water Spacer. Slart Super Flush II Start Fresh Water Spaces. S: 50 350 Start Mixing 200 sactes AA-2 cement. Stoppunping. Shut in well. Washpunpand -0nes. Release Latch Down Plug. Open Well. 125 28tCL Displacement. Fresh Water Displacement. Start to lift coment 650 7:24 Plu down 500 elease pressure, Float Shoe held 7-5 Plug Rat and Mouse Hole's. -0-

10244 NE Hiway 61 • P.O. Box 8613 • Pratt, KS 67124-8613 • (620) 672-1201 • Fax (620) 672-5383

Wash up pumptruck.

8:00 A.M. Job Complete. Thank You Clarence, Mitre, Edward

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201



PRESSURE PUMPING & WIRELINE

PRESSURE PUMPING & WIRELINE						<u> 36 :</u>	34	_	
DATE OF 9-7-09 DISTRICT Pratt Trans	as	NEW □/ C	OLD   F	PROD [] INJ	□ WDW	□8	USTOMER RDER NO	₹ .:	
CUSTOMER Chieftain Oil Company, I	nc.	LEASE H	oulto	n 'A''			WELL N	10,2	
ADDRESS	110:		Bark		STATE	Ta	n Sa S		
CITY	;	SERVICE CR				11	11.9-10		
AUTHORIZED BY		JOB TYPE:	٠.						
EQUIPMENT# HRS EQUIPMENT# HRS	EQU	IPMENT#	HRS	TRUCK CAL	_ED	DAT	E AM	TIME	
The state of the s				ARRIVED AT	JOB		AM PM		
	· · · · · · · · · · · · · · · · · · ·			START OPE	RATION		AM PM		
				FINISH OPE	RATION		AM PM		
				RELEASED			AM PM		
		. 7		MILES FROM	A STATION TO	WELL	<u>-</u>		
The undersigned is authorized to execute this contract as an agent of the cuproducts, and/or supplies includes all of and only those terms and conditions ap become a part of this contract without the written consent of an officer of Basic	pearing on	the front and back	of this do	cument. No addit	ional or substitute	eterms	and/or cond	itions	shall
ITEM/PRICE MATERIAL, EQUIPMENT AND SERV		ED .	UNIT	QUANTITY	UNIT PRIC	Œ	\$ AMO	DUNT	
Elol Heavy Equipment Miles	age		1	60 mi	·	\$	4 2	0	50
E113 Bult Delivery E100" Pickup Mileage			7	347tm 30mi		\$	16	55.	20 50
		<del> </del>		70///		+ +	1.0		שע
CE240 Blending and Mixing Service Supervisor CE206 Cement Pump: 5,001Feet	vice			250sh		\$	35		QO
5003 Service Supervisor	<del>-</del> (			lea		\$			00
CF 206 Cement Pump: 5,00 Feet	06,	000tee	4	lea		<del>\$</del>	2,88	_	00
CE 504 Plug Container			1	lea		<del>  P</del>			20
And the second s									
the disputational interference to the contraction of the contraction o	<u> </u>	,	1					_	
And the state of t	CCEN	FD	<del>                                     </del>			1			
20 10 10 10 10 10 10 10 10 10 10 10 10 10	ECEIV	-040				1		<u></u>	
	AN 28	2010 CHITA	ļ						
	-C 1/11	CHITA	-						-
K	UL VVI		<u> </u>						
CUTMON A COR DATA					SUB TO	OTAL	\$8,61	5	t2
CHEMICAL / ÁCID DATA:	SER	VICE & EQUIP	MENT	%TA)	ON \$		· · · · · · · · · · · · · · · · · · ·	i	חר
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	L	ERIALS			ON \$			$\dashv$	$\dashv$
	. <b>L</b> .			<del></del>	TC	OTAL			
The second secon		•							ŀ

SÉRVICE larence R. M. asid REPRESENTATIVE

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

10244 NE Hwy. 61

## FIELD SERVICE TICKET **0634** A 1718

TOTAL STATE OF THE	P.O. Box 8613 Pratt, Kansas 67124
ENERGY SERVICES	Phone 620-672-1201

		PRESSURE PUI	MPING & WIRELINE	22	1-3	35-1	IW	DATE	TICKET NO.			-
غمد	DATE OF 9	-7-09	DISTRICT Pratt	- trans	95	NEW D	OLD	PROD []IN	J □ MDM		USTOMER ORDER NO.:	
الجعلم	CUSTOMER(			Dany, I		LEASE H	oulte	on "A"	1		WELL NO	.2
	ADDRESS			, Ir	1.17 7111	COUNTY	Bark	per	STATE	Ita	11595	
	CITY	la di Vita di Salaharan La di Salaharan	STATE			SERVICE CF	REWC.	Messich	·: M. Matt	al:		raw
	AUTHORIZED	ВУ	And the second state of the second se			JOB TYPE:	I.N.	WLo	ngstring			
,	19.966		EQUIPMENT#	HRS	EQI	JIPMENT#	HRS	TRUCK CAL	LED 9.	DAT D-O		O CO
ì	17,800	Walley W. Co.				·	8.	ARRIVED A		7.0		1:30
	19.903-19	1.905 1						START OPE		5	4	:30
	la la	/						FINISH OPE	RATION	<u> </u>		30
	19,831-1	9,862 1						RELEASED		7-0°		00
	Received Application	4 11.1				·		MILES FRO	M STATION TO	WELL	- · 	
Page	products, and/or s become a part of	supplies includes a this contract witho	execute this contract as a I of and only those terms a it the written consent of an	nd conditions ar	opearing on	the front and back	of this do	cument. No addi	itional or substitute	e terms	and/or conditio	ons shall
	ITEM/PRICE REF NO.	a mark and	MATERIAL, EQUIPMEN	IT AND SERV	VICES USI	ED .	UNIT	QUANTITY	UNIT PRIC	Œ	\$ AMOU	NT
۲	CP 105	IAH 2	Cement					200st		\$	3,400	66
۲	CP. 10.3	160140	Poz Cemen	7		· · · · · · · · · · · · · · · · · · ·	ļ	50 str		\$'	600	00
P	CC 105	Defog	Mer					3816		5	152	00
8	<u>cc III                                 </u>	Salt (	-ine)			/P-17		1,03866		\$'	519	00
D	CC 115	<u>G95</u> 3	off.		RECE	VED	-	1886b		<u> </u> '\$	<u>968</u>	
P	CC 201	Gilson	jaa. Ite		JAN 2	<del>8 2010</del>		177LD		\$'	- <del> ,  -</del>	5 <i>0</i>
"					<u> </u>			1,000,00		7	<u> </u>	10
P	C 704	C5-11	Produce ought as	K	CC W	ICHITA		5 Gal		\$	175	00
P	cc 151	the same and the same	and the first of t	<del></del>				T00C1	·-··		1170	
p	cc 155	Super F	ush Tush IL		<del> </del>			500Gal		49	430	
. [	i athana	TOP-11	1001135	:				300041		7	100	00
P	CF 607	Latch Do	own Plugand	Baff	e, 5	la"		eq		4	400	00
사	CF [25]	AutoF	ill Float Sh	oe, 5 12	<u>}'''                                  </u>			eq		\$	360	$\overline{}$
P	CF [65]		izer, 5/2"	<del></del> -		<del></del>		Tea		\$		00
'   '	CF 1901	Basket	, 512'					Zea		\$'	580	
Ļ			-				<u></u>	J	OUD TO			1
ſ	СН	EMICAL / ÁCID DA	TA:	]				•	SUB TO	I AL		
ŀ			· .	_		/ICE & EQUIPA	MENT		ON \$			
-[	in the second se			]	MAT	ERIALS		%TAX	ON\$	<u> </u>		$\downarrow \downarrow \downarrow$
L	· · · · · · · · · · · · · · · · · · ·			<b>-</b>					10	TAL		
		•				•				.		1
:	SERVICE REPRESENTATIV	E Jones	a R. M. assis	THE ABOVE	E MATERI BY CUST	AL AND SERVI OMER AND RE	ICE CEIVED	BY:				

FIELD SERVICE ORDER NO.

CLOUD LITHO - Abliene, TX

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)



INVOICE DATE CUST NO PAGE 09/10/2009 1000719 2 of 2

INVOICE NUMBER

Houlton "A:

1718 - 90122718

(620) 672-1201

B CHIEFTAIN OIL COMPANY

67070

1 PO Box: 124

L KIOWA

KS US

LOCATION

COUNTY

Barber

STATE

KS.

JOB DESCRIPTION T

LEASE NAME

Cement-New Well Casing/Pi

JOB CONTACT

40088870 19905				1
<u></u>			Net - 30 days	10/10/2009
	QTY	U of M	UNIT PRICE	INVOICE AMOUNT
roppant and Bulk Delivery Charge fileage lending & Mixing Service Charge	250.00	MI	0.77	192.
lokup	30.00	HR	2.34	70.
nit Mileage Charge-Pickups, Vans & Cars ump Charge-Hourly	1.00	HR	1,584.00	1,584
epth Charge; 5001'-6000' ementing Head w/Manifold	1.00	EA	137.50	137
lug Container Utilization Charge upervisor ervice Supervisor	1.00	HR	96.25	96
•				
	·			
	·		·	
•				
			RECEIV	/ED
			JAN 28	2010
·			KCC WI	

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 841903 PO BOX 10460 MIDLAND, TX 79702 MIDLAND, TX 79702

SUB TOTAL

TAX

8,615.42

INVOICE TOTAL

304.81 8,920.23